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QUESTION 1

In what sequence are the steps of material requirements planning performed in SAP ECC? 

A. 1. Net requirements calculation 

2. 

Lot sizing 

3. 

Determination of the procurement type 

4. 

Scheduling 

B. 1. Calculation of safety stock 

2. 

Lot sizing 

3. 

Scheduling 

4. 

Determination of the procurement type 

C. 1. Availability check 

2. 

Lot sizing 

3. 

Determination of the procurement type 

4. 

Scheduling 

D. 1. Net requirements calculation 

2. 

Lot sizing 

3. 

Scheduling 
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4. 

Determination of the procurement type 

Correct Answer: A 

 

QUESTION 2

In the Customizing for requirements planning, a project team notices that the alternatives P1, P2, P3 and P4 are also
delivered as standard in addition to MRP type PD. The number in each of these alternatives represents a firming type. 

What does a firming type define? (Choose two) 

A. Handling existing procurement proposals outside the planning time fence. 

B. Handling existing procurement proposals within a planning time fence. 

C. Handling new requirements within the planning time fence. 

D. Handling new procurement proposals that need to be created due to new requirements within the planning time
fence. 

Correct Answer: BD 

 

 

QUESTION 3

During the processing of production orders planned and actual costs are determined. On which of the following objects
can you collect these costs? (Choose two) 

A. Production order 

B. Product cost collector 

C. Work center 

D. Planned order 

Correct Answer: AB 

 

QUESTION 4

Which of the following activities is necessary for the capacity availability check that can be carried out automatically
when a production order is released? 

A. Set the finite scheduling indicator and assign a checking rule in the work center for the operation to be checked. 

B. Activate the availability check and assign an overall profile in the checking control of the order type / plant
combination. 
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C. Assign an appropriate availability checking rule to the material master for the product. 

D. Activate the availability check and assign an overall profile in the production scheduling profile. 

Correct Answer: B 

 

 

QUESTION 5

You select the master data for production orders via production versions. 

Which information is contained in a production version? 

A. The explosion dates for the routing and BOM 

B. The routing and BOM alternatives to be used 

C. The default order type to be used 

D. The control parameters for selecting routings and BOM 

Correct Answer: B 

 

QUESTION 6

An enterprise wants to use SAP ECC requirements planning together with the NETPL procedure (net change planning
in the planning horizon). The planning horizon should be set equally for all materials by default. However, some
materials need to have a different planning horizon. 

Which procedure do you recommend for setting the planning horizon? 

A. Set the planning horizon in the MRP groups in Customizing and store deviant entries in the material masters for the
corresponding materials. 

B. Set the planning horizon in the plant parameters in Customizing and store deviant entries in the material masters for
corresponding materials. 

C. Set the planning horizon in the MRP groups and assign deviant entries via the plant parameter settings in
Customizing. 

D. Set the planning horizon in the plant parameters in Customizing and assign deviant entries via the MRP groups for
the corresponding materials. 

Correct Answer: D 

 

QUESTION 7

Which of the following statements about the SAP Solution Manager listed is correct? 

A. Solution Manager is part of the SAP ECC System. 
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B. Solution Manager is an add-on industry solution. 

C. Solution Manager is a stand-alone system that communicates with other systems in a system landscape. 

D. Solution Manager is a satellite system in a system landscape. 

Correct Answer: C 

 

QUESTION 8

Which of the following are characteristics of ECC master production scheduling (MPS)? (Choose three) 

A. MPS items are planned in a standard MRP run. 

B. The planning of MPS and non-MPS items is always carried out in one planning run. 

C. Non-MPS items can be taken into consideration by an MPS run. 

D. MPS items can be defined on plant level. 

E. MPS items can be defined on MRP area level. 

Correct Answer: CDE 

 

 

QUESTION 9

What do you have to consider when you use SAP ECC long-term planning (LTP)? (Choose two) 

A. A planning scenario must be released before it can be used in LTP. 

B. Reorder point planned materials can be included in LTP. 

C. LTP focuses on the operational planning of important components. 

D. LTP creates purchase requisitions for external procurement. 

Correct Answer: AB 

 

QUESTION 10

The company you advise wants to control the availability check in so that when a production and/or process order is
created, the following receipts or issues are taken into account: planned orders, purchase orders, production orders,
reservations, dependent requirements. When the production and/or process order is released, only the stock that is
currently freely usable should be taken into consideration. How can you fulfill this request? 

A. Differentiated assignment of two different checking rules in check control. 

B. Activate the freely usable stock in the scope of check. 
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C. Enter an appropriate availability checking group in the material master. 

D. Enter an appropriate availability checking rule in the order type. 

Correct Answer: A 

 

 

QUESTION 11

Which options can you offer someone who uses the SAP ECC system for production orders and requires support for
material supply in production? (Choose three.) 

A. Automatic generation of a transport order 

B. Material directory 

C. Pull list 

D. Pick list 

E. Logistics Information System (LIS) 

Correct Answer: ACD 

 

QUESTION 12

Which of the following structural elements does a process order have? (Choose three.) 

A. Item data 

B. Parallel sequences 

C. Relationships 

D. Phases 

E. Characteristic-based process instructions 

Correct Answer: CDE 

 

 

QUESTION 13

Your customer does not want to manage value-intensive materials in the warehouse. These materials should be
procured directly for the production order. 

Which BOM item category must you set to fulfill this requirement? 

A. D (document item) 
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B. E (external procurement) 

C. M (phantom material) 

D. N (non-stock item) 

Correct Answer: D 

 

QUESTION 14

Which of the following items of master data are needed for repetitive manufacturing? (Choose three) 

A. Production supply area 

B. Repetitive manufacturing profile 

C. Production version 

D. Master record for serial numbers 

E. Product cost collector 

Correct Answer: BCE 

 

QUESTION 15

Which activity can trigger an automatic availability check for the components of a production order? 

A. Material staging 

B. Order rescheduling 

C. Order release 

D. Goods receipt for a missing part 

Correct Answer: C 
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